[FrLo OB AALTOY T | RER
<1-2:3%F>
pd T, REASMARER
(v PAE FRA Z& RD&%
Fi | 1E4% EITIL B NERR 14448 14.66[3]
gt | 154 ENMTILRE/INER 1466248 9.5[a]
FIL | 1ELE FREMILER/DNER 14148 8
gak | 1854 SRR IL ) I/NEAR 15E24R 4.5[a]
E56 | 1854 B BT 3L SR A /N AR 1148 3.5[]
FohL | 1E4E BT HILER/INER 146340 2.5[a]
£ 1864 EMTILREBE/NER 14148 0.5E]
(v PAE FRA Z& RD&%
Eh | 284 BEEFHILZAIL/NER 24148 69[a]
gt | 284 IR ILETR/NVERR 24148 67.5E]
EIL | 284 IR ILETR/NVERR 24248 56[a]
FAL | 284 EMTILRMER/DNER 24E 148 49.66[H]
E561 | 284 EMTILRER/NER 24248 45.66[H]
$oht | 284 B ¥ BT 3L BRI R /N AR 24348 40[8]
FIL | 284 EMT IS NER 24348 35.5[]
F8hL | 284 BRI BT 3L S ATV AR 2148 25.5[d]
{73 PAF FRA 2k ACE%
E1hL | 3FE4LE IR IR /NEAR 34 24R 234[d]
gt | 3F4LE IR IR /NEAR 3148 136
E36 | 3FEHE HEILER/NFER 3E148 114.5[]
$ah | 3FE4LE JERATH IL 2 [N AR KE:HT | 103
¥561 | 3F4LE JEMATH IL 2 [E/N AR KE: L | 8g[al
%6ht | 3FELE EMTIL A E/INER 3248 85
FIL | 3FE4LE FREMILER/NER 3 1HA 67[=]
%8 | 3FELE IR IL A BF/NERR 34 24R 66/[a]
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[FrLoO8MHITHALGRTOY T IRER
<4-5-65F-FAXEFEH>

D3 X, REXS M REHR
(v SPAF FRA 2k RDE%
TG | 4FHE FRRE T IL B IR/INFAR 45148 242[0]
gt | 4FEHE IR IL#D A /NVEAR 4E AR 79[e]
EIL | 4FEHE R IL R /N 4E1HR 74[q]
FMI | 4EHE FE L RERIR/NFR 4148 71.5[]
E50 | 4L IR ILETR/NVERR 4E1HR 71.5E]
$6hL | 4FEHE B e T 3L BRI R /N AR vE:F | 58[a]
I | 4FEHE IR ILHTR/NERR 44 24R 53.5[8]
$of | 4FEAE IR INERR 4EE 348 44.33[e]
{73 PAF FRA 2k ACE%
E1hL | 54 EMTIL A /INER 54 24R 304.5[H]
Eo | 5HE4E EMTILFE/NVER 54 24R 258[d]
E3h | 5HELE =Bt/ 54 3%A 232.33[E]
$ahr | 5HE4E EMTILFE/NVER S5EE14R 207.33[E]
$56 | 5E4LE FREE T AL ET@ /N AR S5EE14R 137.5[H]
¥ | SHELE I LRI /DR 5% A#H 133
EM | 54 = B IRE/NER 54 24R 126.33[H]
%8 | 5FE4E #h)ITHILRIR /DR S5EEH 72.5[E]
(v SPAF FRA 2k RDE%
F16 | 6F4E FRRE T AL B/NER 64248 480[]
F26L | 6FEHE EMT LA /NER 64348 292.5[d]
EIL | 6FEHE FRR T AL B /NER 64148 243 5[]
FALL | 6FE4E ENMTILRE/NER 64148 199[E]
E561 | 6F4E FEOETILKRIZ/INER 64E 248 185[d]
F6hLr | 6FE4E = EMIR/NER 64248 177.5[E]
I | 6F4E = B iR H/NER 64148 145[E]
F8hLI | 6FE4E =EMIMER/NER 64248 138.66[E]
{73 PAE FRA 2k RO 8%
T [ $FRIXE R IR E/INER FHN-F=AIXITHE| 135
Fr | HERIE TR T AL RNV 1148 32[d]
FIL | HFRIRIE IR ILETR/NVERR 38 18[@]

XEEARLSEE . REANRVAZLLELEY . REBLRLES X SMABSENAZ LMELET,




